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WEEK 14 - MONDA

T 0.2 x &5 = w/Oﬂi 14. Fill in the missing number.
AT 2,58 I, [#] 17
B ’ i 15. What must be added to 0-6 to make 1-3?
L3 XS .30 o7
E 4% 8 x &5 =.\40
Sl 5 =ks 16. Mary sold 84 raffle tickets. Sandra sold 17
. - = . less than that. How many did Sandra sell?
6. Two 40 cm lengths are cut off a | metre |o|57 67 [c|47
> o 1
tape. What length of tape is left? [20ca 17. Which of these is 5 minutes to 7 in digital
7. How much is 05 of €2:50? €/-25 time? [0 7:05 v 6:45 v/ 6:55
8. Write 20 minutes to 5 in digital time. ‘4 49 | 18, Mick had €36: He spent l— of it. How much
9.3x| & |=12x2 had he left? (/€27 (o €28 |c|€29
| 10. 50 + 290 = "3440 19. What must be added to 1-3 to make 2:0?
| T
11. Subtract 79 from 206. |42 o [IEZENATE < |03
12. Jim had 50 marbles. He gave 8 to Jack and 9 20. ‘How m‘unu minutes from 2:55 to 3:15? |
[ |
to Bernie. How many has he left? | 323 | lo]15 w120 |25
13. Write 4% in decimal form. |43 | & @ €1 seore AR
Work it out [
<
WEEK 14 - TUESD
; T .0 x 5 =[50 13. What must be added to 8 times 6 to make
|A 2 7 « 5 =33 07 172
E A ey = 120‘ I4. How many minutes in | hr 35 mins? 175
E &7 5 - 15. 6x5 =10 + (20 |
S 5.4 x 5 =[z20 16. The difference between two numbers is |4.
- . % The smaller number is 17. What is the larger
6. Patricia’s watch is 10 minutes slow. If the UEbe el o [o I s Al “;/3|
time on her watch is 9:55, what is the correct = l’, : :
time? /0 :05" 17. If it takes |2 hours to walk 8 km how long |
7. Which of th T 00 L = e does it take to walk 24 km?
2 a ADERe PANE § Agle | a8 hours Vlv% hours |6 hours
=0 18. (5% 9) - (3x6) [16 [0]17 [W]27
5 = = all6 | 1
5 8.  of a number is 4. What is the number? (32 i ; = ‘
1 : T ser e i
9. How many minutes from 3:40 to 4:05? .25 L2 8HowianyRe sz~ 1081 - [68) < 1/

. What & coins make €5:207? £2 (€27 |20t
. 19.is half of 3€ .

. i of a number is 10. What is 1 of the
number? | Zz |

. A newspaper cost €2:70 and a magazine

cost €1-95. How much for the two?
o €360 lEu6s ¢ €475

&1 & 1 ] score

mml{«eﬂ
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A2 o %

E 3 10 x

E & 5 x

S 5.8 x 5 =40

6. 136 is greater than 109 by how much? 27 |
7. 201 -29 = /2]

8. 279 is half of what number? 555

9. In three hours’ time it will be 4:30. What time

isitnow? | /:30/

. What must be added to & of 84 to make 532
(32]

I1. A juice drink costs 80c. If I had another 50c I

could buy two. How much have I? € /./0 |

. Mum puts €35 into the bank each week. How
much will she have after 8 weeks? €250 \

WOrk it out.

13. 8x9)-9
I4. A train journey takes 2 hrs 30 mins. It leaves
the station at 1:15. When will it arrive? 3 :4s7
15. Whj(/s the eiﬂhth month of the year?
Jjﬂé‘
16. Rupert is | m 26 cm tall. Barry is 17 cm
taller. How tall is Barry? i
o/l m30cm g/lmkacm ;c‘lmSch

17. Fiona had €3:00. She spent Twof it. How much |
has she left? ¢/ €2:70 v €170 < €0-70

18. Pat ate i of a pizza. What fraction was left?
ol 2 [o] 1 [f

19. How many tenths in 1162 o 12 Wiis clie|

20. i of a number is 20. What is i of the

number? (o|5 |8 [c|10 -
\ 20/

EEK 14 - THURSDA
[T ‘}5 I1. A bag of flour weighs | kg. Mum‘ uses 370 g.
AL ol /s How much flour is \aeﬂ‘? é30j3
B . s 20 12. Which is greatest: i, z, 0.2, 0.7? |@-7
'E' ot oo | 13. 2 of a number is 30. What is  of the
$ 57 x5 =[335 number? | &
14, 768 - 300 = 463|

6. A supermarket sells 279 bottles of =

’ apple juice on Monday and 78 more 15. 8x8 +9=|73]

:w‘ than that on Tuesday. How many

wwv bottles do they sell on Tuesday? 357

7. Joan read for | hr 10 mins, starting at 2:30.
When did she stop? | 3 40

8. What is the perimeter of a field 100 metres
long and 80 metres wide? |3¢os |

b How many centimetres in 0-1 of a

metre? | /0 |

. (2 of 16) + (2 0120) = | /&

16. 70 + 36 = (13 |a|5 [b]6 /7
17. 91 - 200 = 69 912 |b|4 |c 6
18. (6x7) +8 =[] a|48 [pr50 [c 54

19. How many millilitres in 23 litres?
|a/250 /2500  c 500

20. (3 0f 24) + (4x6) = [ ]

[o]12 [v]30 (/36
e e
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WEEK 15 - MONDAY

. How many weeks in 56 days?

N OMrPOD>-

L 100 - (9x 4) = B4
. 3x3x3 =2y
. Dad spends €4-60 on bus fares each day.

I. 3 x 0 =20
2 5 x 10 =[50
3.6 x I0 =|éo
ol s 0= B2
5.8 x 10 =[80

8 |
Sam had 52 football cards. He
gave 8 to each of his 6 friends.
How many has he left? | 4«

e Apizza was cut into 10 equal pieces. |
| Sally ate 2 pieces. What decimal |

= fraction of the pizza was left? &

How much will he spend in 7 days? €32-20

. 36 + 34 + | 57 = 145

. What is 15 of 60?7 | /S

. How much is 0.5 of €2:40? &€/-20

5 é How many triangles
are there? | 4~

. Dad had €70. He spengrrlu of it. How much
has he left? |o|€54 b €60 v/ €63

. How many centimetres less than 2 metres is |
I m47cm? (o 73cm /53cm (¢ 63cm |

. Itis now 7:30. What time will it be in
I hr 15 mins? | o 7:45 |v 8:00 \/8:45

. Subtract 289 from 613. | o | 264 7304 <] 204
132 [a|68 /65 [c|67

OTAH

|
|
|
|

- OMFOD>-

. Write 5 minutes past 7 in digital time | 7:05

. Fill in the missing number.

1. 10 x 10 = Yoo
2.9 x lo =|fo
Gme o n = e
b 4 x 10 = |40
5.5 x I0 =[50 ‘
® Jason had 70 marbles. Grace had |
”’ 1 of that number. How many had |

# they altogether? 7Y

What number is shown on the
abacus? |52/

il

Four plums cost €2. How many
plums could I get for €67 '
/2

03, 06, 09, 12, /-5

WEEK 15 - TUESDA

. By how much is 71 greater than 49? | 72

. €300-€179 = €/ 2/

. How many centimetres in 2 m 46 cm? zyé
. How many minutes in 3 hours? /S0
.2x9 =38x| &

. Jackie has €36. Leona has 4 of that amount,
How much have they altogether?
W €45 |v €55 || €65 |

L 4m27cm +2m46bm =
o 6 m 36 cm u/bmmcm ‘¢ 6m83cm
. Take 4 times 9 from 5 times 8.
1018 Wb |c|6
. 200~ (6x8) =[] o] 132 [v] 158 [7152
. 400 - 168 = 197232 (o342 (] 242

Score

Qlalg





image4.jpeg
WEEK 15 - WEDNESD

O 50| 13, Four pencils cost 50c. How
A g oo =80 | = . many can I buy for €2?
B -
"3A7XIO=V70 14, If today is Monday 7th, what di ill it b
A . If today is Monday 7th, what day will it be
B e on the 16th? %éua}msz@/’
S 5.6 x 10 =60
15. Take 40 from 400. 30 |
6. How many grammes in a kilogram? /oco |
: e 16. A book costs €3:99? What change do I get |
7. How many minutes in |3 hours? | 75 | from €10-00? | o | €6:10 €6:01 ¢ | €7:10
8. When Ildouble a number I get 16. What 17. Add 60 to 390. g/ 450 | »|470 I 480
would & of the number be? | % i e
= 18. % of a number is 5. What is 1 of the number?
9.9+6+[g =15 A2 [o]4 [<]6
RS (R 4 19. 27is & of [, [o] 44 |54 [o]64
I1. The sum of three numbers is ?3. If9 c.nd 8 20. By how much is 216 greater than 1192
are two of the numbers, what is the third f P
al107 W97 [<| 117
number? | £ |
i
12. What is 4 of 367
36 ; 7 A @ @L‘ Score %
| Work it out "

§ R L = 40| 13. How many grammes in | kg 350 g? L350
A 55 «x 1 1. 2x9=38x| &
E 3. 20 x P 15. “ How many right angles in |
E 4 3 x 10 =30 this shape? = & |
85 9 (x o= (90| 16. By how much is 304 greater than 1597 |
6. [] How many right angles in a square? | 4% [0]95 w145 [ 185
7 What fraction of this | /- 17. What number is 56 less than 201? |
A shape is shaded? | 2 \9/145 (0185 [< | 165
8. John skipped 24 m 35 cm and hopped 18. What must be added to & of 32 to make 19?
16 m 84 cm. How far did he travel? 4%/ /e, ol 16 WA15 [o| 14
; 9. (9x5) + é = 5] 19. Ta!(e 380 g from | kg. 4
- 10. How much longer is 4 m 26 cm than : nl R0l . | ?20 9 lyf6209 ’
2m 68.om? /4, S8em 20. (3 of 18) + (4 of 20) = i
1. Kim’s ribbons are ¢m and & m long. How ‘U/M Lol

many cm long are the two together? | /5,

N 2. [3 + 13+ [ /4] =40 : j ‘ & j Cl] Score -





